

Show your work! Please draw a box around your answers!

**1.** (6 pts) Write definite integrals expressing the area between  $f(x) = x \ln(x^2 + 1)$  and  $g(x) = 3 \ln(x^2 + 1)$  from x = -1 to x = 4. Only write the integrals (DO NOT INTEGRATE).

Crossing points: 
$$x \ln (x^2+1) = 3 \ln (x^2+1)$$
   
(x-3)  $\ln (x^2+1) = 0 \longrightarrow [\ln (x^2+1)=0 = x=0]$ 

2

$$Area = \int_{-1}^{4} |x \ln (x^{2}+i) - 3 \ln (x^{2}i)| dx$$
  
=  $\int_{-1}^{4} |x-3| \cdot | \ln (x^{2}+i)| dx$   
=  $\int_{-1}^{6} (3-x)(\ln (x^{2}+i)) dx + \int_{3}^{3} (3-x) \ln (x^{2}+i) dx + \int_{3}^{4} (x-3) \ln (x^{2}+i) dx$   
=  $\left(\int_{-1}^{6} (x-3) \ln (x^{4}+i) dx\right) + \left(\int_{0}^{3} (x-3) \ln (x^{2}+i) dx\right) + \left(\int_{0}^{4} (x-3) \ln (x^{2}+i) dx\right) + \left(\int_{0}^{3} (x-3) \ln (x^{2}+i) dx\right) + \left(\int_{0}^{4} (x-3) \ln (x^{2}+i)$ 

Arc Length = 
$$\int_{x=z}^{1} ds = lax+1$$
  
=  $\int_{2}^{3} \int (f')^{2} + 1 dx$   
=  $\int_{2}^{3} \int (lax+1)^{2} + 1 dx$ 

(a)  $\lim_{x \to 0} \frac{\ln(x+1) - \frac{L'H}{x^2}}{x^2} \xrightarrow{K \to 0} \frac{\frac{1}{x+1} - 1}{2x} = \lim_{x \to 0} \frac{1 - (x+1)}{2x(x+1)} \xrightarrow{K} \frac{1}{2x(x+1)} \xrightarrow{L'H} \xrightarrow{L'H} \xrightarrow{L'H} \xrightarrow{L'H} \frac{1}{2x(x+1)} \xrightarrow{L'H} \xrightarrow{L'H}$ **3.**  $(5 \times 3 \ pts)$  Calculate the following limits (b)  $\lim_{x \to -\infty} x e^x = \lim_{x \to -\infty} \frac{x}{e^x} \frac{t''}{e^x} = \lim_{x \to -\infty} \frac{x}{e^x} \frac{t''}{e^x} = 0$ 8 8 (c)  $\lim_{x \to \infty} \sqrt{x^2 + 3x + 5} = \lim_{x \to \infty} \sqrt{x^2 + 3x + 3} - x \cdot \left( \frac{\sqrt{x^2 + 3x + 3} + x}{\sqrt{\sqrt{x^2 + 3x + 3} + x}} \right)$   $0 - \infty = \lim_{x \to \infty} \frac{\sqrt{x^2 + 3x + 3} - x^2}{\sqrt{\sqrt{x^2 + 3x + 3} + x}} = \lim_{x \to \infty} \frac{(x^2 + 3x + 3) - x^2}{\sqrt{\sqrt{x^2 + 3x + 3} + x}} = \lim_{x \to \infty} \frac{\sqrt{x^2 + 3x + 3} + x}{\sqrt{\sqrt{x^2 + 3x + 3} + x}}$ Casies to sol Rale !!  $= \frac{1}{x - \infty} \frac{3 + \frac{3}{x}}{\sqrt{1 + \frac{3}{x} + \frac{3}{x} + 1}} \left(\frac{x}{x}\right) = \boxed{\frac{3}{21}}$  $(\mathsf{J}) \lim_{x \to 0^+} x^{3\sin x}$ = lim clax 3smx = lim 3smx lax =  $\lim_{x \to 0^+} 3 \frac{3 \ln x}{(\infty)^5} = \lim_{x \to 0^+} \frac{3 \ln x}{(1 + 1)^5} = \lim_{x \to$ = lin - 3 sinx tanx %  $= \lim_{x \to 0^+} -\frac{3(\cos x \tan x + \sin x \sec^2 x)}{1} = (2)$ (e) lin. x $x \rightarrow 0^+$ 11  $\lim_{x \to 0^+} e^{\ln x^{cosx}} = \lim_{x \to 0^+} e^{\cos x \ln x} = 0$   $\lim_{x \to 0^+} e^{\cos x \ln x} = -\infty$ 

**4.**  $(4 \times 4 \ pts)$  Calculate the following derivatives.

(a) 
$$\frac{d}{dx}\left(\ln\left(\sqrt{\frac{2x+1}{x-2}}\right)\right) = \int_{-\infty}^{\infty} \left(\frac{1}{2}\left(\ln\left(2x+1\right) - \ln\left(x-2\right)\right)\right)$$
  
$$= \int_{-\infty}^{\infty} \left(\frac{1}{2x+1} \cdot 2 - \frac{1}{x-2}\right)$$

~

(b) 
$$\frac{d}{dx} (\arcsin(2^{(x^{2}+1)})) = \frac{1}{\sqrt{1-(2^{x^{k+1}})^{k}}} \cdot \frac{d}{dx} (2^{x^{2}+1})$$
  

$$= \frac{1}{\sqrt{1-(2^{2x^{k}+2})^{k}}} (x^{2}) 2^{x^{k+1}} \frac{d}{dx} (x^{2}+1)$$

$$= \sqrt{\frac{1}{1-(2^{2x^{k}+2})^{k}}} (x^{2}) 2^{x^{k+1}} (2x)$$
(c)  $\frac{d}{dx} (x^{(x^{*})})$   
(c)  $\frac{d}{dx} (y^{(x^{*})})$   
(c)  $\frac{d}{dx} (\int_{\sqrt{x-1}}^{x^{2}+2} \arccos(t^{*}) (x^{*}) + x^{*} (x^{*}) + x^{*} (x^{*}) (x^{*}) + x^{*} (x^{*}) + x^{*} (x^{*}) + x^{*} (x^{*}) (x^{*}) + x^{*} (x^$ 

5. (3×4 pts) Let R be the region enclosed by the curves y = x<sup>3</sup> + x + 1 and y = x<sup>2</sup> + 1. In the parts below your answer should be a definite integral. (DO NOT INTEGRATE.)
(a) Write a definite integral which computes the volume of the solid formed by rotating R around the x-axis.



$$f(x) = \frac{3x^2}{2} - 7x - \frac{4}{x}$$

on the interval [-1, 1].

$$\lim_{X \to 0^+} \frac{3x^2}{2} - 7x - \frac{9}{x} = -\infty \quad \text{so} \quad \underline{n} = abs \quad \min :$$

$$\lim_{X \to 0^-} \frac{3x^2}{2} - 7x - \frac{9}{x} = +\infty \quad \text{so} \quad \underline{n} = abs \quad \max :$$

7.  $(2 \times 5 \text{ pts})$  In this problem you will compute the integral of  $\operatorname{arcsec}(x)$ .

(a) Let  $f(x) = \sec(x)$  so that  $f^{-1}(x) = \operatorname{arcsec}(x)$ . Use this to derive the formula for  $\frac{d}{dx} \left(\operatorname{arcsec}(x)\right)$ .

$$f(x) = \sec x$$

$$f'(x) = \sec x \tan x$$

$$\frac{d}{dx} f^{-1} = \frac{1}{f'(f^{-1})} = \frac{1}{\sec (\operatorname{arcsecx}) \tan (\operatorname{arcsecx})}$$

$$= \boxed{\frac{1}{x \sqrt{x^2 - 1}}}$$

(b) Use your answer from (a) to compute  $\int \operatorname{arcsec}(x) dx$ .

$$\int \operatorname{arcsec x} dx = \frac{1}{x \sqrt{x^{2}-1}} = \operatorname{x} \operatorname{arcsec x} - \int \frac{x}{x \sqrt{x^{2}-1}} dx$$

$$dv = dx \qquad v = x$$

$$\begin{cases} x = sece \\ dx = secotano do \\ \sqrt{x^{2}-1} = tano \end{cases} = x \operatorname{arcsec x} - \int \frac{1}{tano} \operatorname{secotano do} dz$$

$$\int \frac{1}{x^{2}-1} = tano \qquad = x \operatorname{arcsec x} - \ln|seco + tano| + C$$

$$\begin{cases} x \\ \sqrt{x^{2}-1} \\$$

**8.**  $(6 \times 5 \ pts)$  Compute the following integrals.

(a)  $\int \sec^3 x \tan^3 x \, dx$ 

$$\frac{u = \sec x}{du = \sec x \tan x} dx = \int u^{2} (1 - u^{2}) du = \frac{1}{3}u^{3} - \frac{1}{5}u^{5} + C = \frac{1}{3}sec^{5} x - \frac{1}{5}sec^{5} x + C$$



(d) 
$$\int (x^{2} + 2x + 5)^{-15} dx = \int \frac{1}{(x^{2} + 1x + 5)} x_{5} dx = \int \frac{dx}{((x + 1)^{2} + 4')} x_{5}^{2} dx$$

$$= \int \frac{2 \sec^{2} 6}{(2 \sec 6)^{3}} = \int \frac{2 \sec^{2} 6}{(2 \sec 6)^{3}} dx$$

$$= \int \frac{2}{5} \frac{2 \sec^{2} 6}{(2 \sec 6)^{3}} dx$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 6} dx = \int \frac{1}{4} (\cos 6) dx$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 6} dx = \int \frac{1}{4} (\cos 6) dx$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 6} dx = \int \frac{1}{4} (\cos 6) dx$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 6} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{4} \frac{1}{5 \sec^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx + C$$

$$= \int \frac{1}{5} \frac{1}{5 \tan^{2} 7} dx +$$